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C:\openssNOUT32>openssl|

OpenSSL> ?

openssl:Error: '?' is an invalid command.
Standard commands

asnlparse ca ciphers cri

dgst dh dhparam dsa

S server s time sess_id smime
spkac verify version x509

cri2pkes?
dsaparam

speed

Message Digest commands (see the “dgst' command for more details)

md?2 md4 md>5 rmd160

sha
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> openssl command [ command_opts ] [ command_args

H:\SecureLab\study>type data.txt
012345678901234567890123456789
H:\SecureLab\study>openssl shal data.txt

SHA1(data.txt)= 3b67544bfd2d6732fad2aabac32e692b1ae9del3

H:\SecureLab\study>openssl|

OpenSSL> shal data.txt

SHA1(data.txt)= 3b67544bfd2d6732fad2aabac32e692b1ae9del3
OpenSSL>
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